375 f] 3°

-3A2= _9
(-3)A2= 9
3%2)= _Q

(372)= _Q
3*5/15
"*F/ 4, " +F -0 EBEEELER—R BT BEIN LM

56\3=6\3=2  HEER\LFELHEIZERN 2 @iﬁ?ﬁﬁﬁ‘ﬁﬁ%@zgﬁﬁ R EPRER
6.6\3=7\3=2  6\35=6\4=1  7.5\25=8\2=4

55\3=6\3=2 6\3.6=6\4=1 85\15=8\2=4

45\3=4\3=1 6\2.5=6\2=3 86\2.6=9\3=3

Mod HEE(H 48 ] NEE EL TR » 7 A B - (R s Bt stop T -

5Mod2 =% 1
6Mod2=0
25Mod2=1
1587 Mod 2 = 1

257836874 Mod 2 =0

34 Mod 6 =4 49 Mod 11 =5
5.8 Mod 2.2 =1.4 34.5Mod 7 =6.5 _

2A5-2*10/2 /(83 mod 15)
T+, EEBERC BE - TE = BlE
2 + 5 = 7 ll2 “" + 5 = 7 2 + ll5ll =7 “2" + ll7ll = IIZ7II



ll%" + 7 =Hjﬁ$§§% ﬂ%" + ll7” = H% 7”

+ T & HEALMFREH ER + RABHBREETERREESIHR) - T & BEFENRTSHRT S
2 & 7 = ll27" llz" & 7 = ”27" z & ll7"=”z7ll
“EY T = 7" 7 & R =17 B

5>5 =>False, 5>=5 =>True
“Apple” <> “Apple” = 5"5[;]_‘, Bl “A” <>“Q” =? BIELI: 2 [BFZTCHT ASCIEE 65 <> 97 =ELiY(True)
ASCII T :

0, 1~9 A,B~Z a,b~z
VA% Vv V.
48, 49~ 65, 66~ 97, 98~

“Aks” < 88 =65 < 52 (Zt: AsCll £E) = False([EH7)
“Apple” > “Air” = 55 1 {HFTTE—RERE R T EL, DASLIEHE...s0 LE “p” > “1” = True
5A2>=5A(-2)
-25>=
4n2-=4%
2nr6=2°
16 70.5 =16 A (1/2) =/16
1254 (1/3) =125
810.125=8A(1/4)= V8

1 1
167 (-2) =5 =5
1
27 (10) = =0

Int  IEE : ERARES
BB - RS

Fix IEHE : #HEHRERE

X BIEE ¢ Int(X)=Fix(X)
X BB Int(X)=Fix(X)-1 ex: Int(-5.1)=-6 Fix(-5.1)=-5



]
(3]

w o

1 0 O
1 29
1 :
1 1 1
1 31
3 30
3 29
3 28
3 3 2
5
1 S=S+I*R R
1 1

1 2 -1
2 0 1
3 3 -1
4 -1 1
5 4 -1
6 -2 1
7 5 -1
8 -3 1
9 6 -1
10 -4 1
11
K=1to3 M=1toK S=S+K*M
1 1 S=S+1*%1
2 1 S=S+2*1
2 2 S=S+2%2
3 1
3 2
3 3
K=1to 6 step2 J=3to8step3 S=S+J
1 3 3
1 6 9
1 9 exit
3 3 12
3 6 18
3 9 exit
5 3 21
5 6 27
5 9 exit
7 exit
J=2t04 X Y

16 22
2 14 6

8 6

6 exit loop
3
4

5 exit



800pixel*600pixel  200dpi (ppi) dpi (dot per inch)
200 200

4 inch * 3 inch
500dpi

1.6 inch * 1.2 inch
i=l  n=0+ENP{1}2 n=2 x=1"2+1=2,i=2

i=3 n=2+ENP{3}12 n=14 x=12,i=4
i=5 exit

10100001.01010101.00001100.00001010
And 11111111.11111111.11111111.00000000
10100001.01010101.00001100.00000000

124 14 $50
15~30 15*3.5=$52.5
31~50 20*4.5=$90
(124-14-15-20)*6.5=5487.5
Total=$50+$52.5+$90+$487.5=$680

25  50+(25-14)*3.5=$88.5
47  50+15*3.5+(47-14-15)*4.5=$

Dim Water asshort
Water = val(textbox1.text)
If Water>=15 And <=30 then

Else if .....

Else if....

End if

1=0to 2 J
(] 0(k=0),1(k=1),2(k=3)
1 0,1,2
2 0,1,2

i=1t010 j=ltoi k
1 1 1

2 1,2 1,1-2

3 1,23 1,1-2,1-2-3

ppi (pixel per inch)



